Efficiency vs P,

~0.0%
o
£9.009
>
9.008
o
.007
0]
0.006
0.005
0.004
0.003
0.002
0.001
0

Ratio
=

107 1 10 prT (Ge\})o3

—=— DQMstep3 TT_CKF
—e— DQMstep3_TT_default
—— DQMistep3_TT_defaultNEWTepo7

=0.01
[
2.009
(8]
9.008
5}
£.007
()
0.006
0.005
0.004
0.003
0.002

0.001F

o JOETIRE T :

5 M ] ] :

@ 12p- Iy ;
]_:—- 2 é L SRRt 3 -1-5 -------------- +-%-}-----
o8f--{fHHH-- -5 - PERRETEPPIEPRET X ) SYPrn
-3 -2 -1 0 1 2 3

Efficiency vs ¢

s 0.0l
o F
20.009F
(8] .
$.008F
o .
.007E
o :
0.006F:
0.005F
0.004F
0.003E
0.002E
0.001E

Ratio




	Contents
	Page 1


